ATLAS SCT Module Test: Response vs. Channel - Tue Nov 06 11:25:52 2001 - LBL - Module 20220170100006

Page 1 Run 357 Start Scan 18 Module O Stream 0

oo TP ATEES e
V50 at 2.00fC | [ Nent = 689 :
vaolv) =1a4.2+-037 i Mean  =1438 + 0154
E ook o g1 Sama = 1703 10104
E J
g 9 i i
> 200 : 'y
] ]
4 N l
4 |
2 2
100 110 120 130 140 150 160 170 180,000 100110 120 130 140 150" 160 170" 16000 ®100 110 120 130 140 150 160 170 1600,
ETYATEET = ST Nem =127
? 1068+ 1 SEEEEEE——— ol T Constant = 1561+ 164
I 47+ 018 Py B b Mean 1435+ 0144
¢ pXe £ Sigma =163 010
b
]
10}
q \
] I
0 100 200 300 400 500 600 7QQannel Number 00 T1o 130 150 140 150 160 170 0*05 Tio 120 1% 140 150 160 170 183,190
- oo — SR —
Gain at 2.00fC ] [Nent = 689 ™ e r o
" Tt
% T0 N Sigma S 200 0.0e4
z 65 t b
= 1o
5 60 p
Y} 9 1]
E L3
V)
5 0 50 o nb 55 ehnmP0 50 0 355 eometpo R
I o=t ST o o [ —o o)
Iﬂ:g Constant = 16.33 + 2 o) 22 Constant=25.64 +- 278 B Constant= 2662+ 3.1
g Mean 18.84 +- 0.10¢ 5 Mean 46.56 +- 0.08; 1 Mean 46.42 +- 0.07686
g g Sigma_= 0.983 +- 0.050 2 25F Sigma_= 08853 +- 0.04
of
of
of
£
0 100 200 300 400 500 600 7QQannel Number T
e
Extrapolated Offset | [ Nent = 689 v
:
£
E 140 @
= o
2
£ 120
z E3
5 100 £
2
£ 80 s 100
@ Chip 5 Extrapolated Offset Nent= 127
e Constant = 31.85 + 3.44
E Mean =511+ 014
25F
2
15~
N3
£
0 100 200 300 400 500 600 TQQannel Number 0 10 20 30 40 50 60  79med 0 0 10 20 30 40 50 60 010 20 30 40 50 60 70eBRes i PO
: [ oo o — S U NoIse & 200 T T Nolse & 200
Input Noise at 2.00fC ] [ Nent = 689 - - FEE— -
- i . 14 Mean = 1654+ 320
£ 3000 $ig Sof g e < e
g 1 3 a9 |
ki b o g
f
2 2500 2of 2
= o
2 y 10f 10 I
- 2000 7
500 1000 1500 500 1000 1500 2000 Noise (RSP0 0 500 1000 1500 2000 noise (£REO0
Neni= 05 Thip 4 INpUt NoISe at 2.001C. "Chip 5 Input NoISe at 2.001C. Neni= 127 1]
1500 g Constant = 28.72 +- 36 . Constant =305 +- 4.2
i 763 +-a.45| £ 20 Mean = 1776 +-3.789
i £ e 3 Sigma_= 427+ 2.679)
1000 2 2 30f- T
15} 20 25p= |
1] 208"
500 ff X N ok |
t E J b g
0 100 200 300 400 500 600 7@annel Number S0 1000 500 1000 1500 2000noencdB00 500 1000 1500 2000mmecB00

5



ATLAS SCT Module Test: Response Curve - Tue Nov 06 11:25:52 2001 - LBL - Module 20220170100006
Page 2 Run 357 Start Scan 18 Module 0 Stream 0

[chip 0 Response Curve ]

[chip 1 Response Curve | [chip 2 Response Curve |

[Chip 3 Response Curve | [chip 4 Response Curve |

[Chip 5 Response Curve |

800 600F £600F 00F £600F £600F
“500f *500F *500F *500F *500F >500F
400 400 400 400 400)
300) 300 300) 300 300)
200) 200 200) 200 200)
100 100 100 100 100
P T T T A B ST T T T, T T R T P ST T T T T TR VO TR B T T TR AT
0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)
[ Chip 0 Gain | e Chip 1 Gain | [ven=0 | Chip 2 Gain | [veni=0 | Chip 3 Gain | [veri-o ]I Chip 4 Gain | [nen=0 |l Chip 5 Gain | Neni=0 |
Ay oI00 Y oI00 DL0! G100
2 90k 2 90F 2 90F 2 90F 2 90F 2 90k
= 80F < 80F < 80F £ 80F = 80F £ 80F
© 70F 70 ° 70k ° 70f ° 70F ° 70
60F 60) 60F 60F 60F 60)
50k nmm 50 man 50F nmn 50F mam 50F 000 50F o
40k 40, 40F 40F 40F 40,
30f 30) 30F 30F 30F 30)
20f 20F 20F 20F 20 20F
10F 10 10F 10F 10F 10F
0 1 2 3 4 5 6 7 8 0 1L 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)
[ Chip 0 Output Noise] [ven=0 J|[_Chip 1 Output Noise] [ven=0 JI[ Chip 2 Output Noise ] [ven=0 J[_Chip 3 Output Noise ] [veni=0J[_Chip 4 Output Noise] [ven=0 J|[_Chip 5 Output Noise | Nent=0 |
ESESLY] SIS I ESNESLY) =3 SIS
£ B g B g £
= = = = = =
g 25F g 25k g 25F g 25F g 25F £ 25F
Z Z = z = z
£ 20fF £ 20F £ 20F £ 20f £ 20F £ 20F
o) o o] o o] o
15F B e 15 15F +H+ 15 e+ 1.
10F 10F 10F 10F 10F 10F
sf sF s5f sF s5f sF
el oot TR AT bt TR TR TR R R R RO R
0 1L 2 3 4 5 6 7 8 0 1L 2 3 4 5 6 7 8 0 1L 2 3 45 6 7 8 0 1L 2 3 45 6 7 8 0 1L 2 3 4 5 6 7 8 0 1L 2 3 45 6 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)
[ Chip 0Input Noise | neni-oJL_Chip 1 Input Noise | Nent=0 ||_?:(I:hip 2 Input Noise | weni-o_J|_Chip 3 Input Noise | Nent=0 ||_23Chip 4 Input Noise | Nent =0 ||_?§3hip 5 Input Noise | Neni=0 |
%;)UU 5 UV 5 Ul %;)UU 5 Ul E UV
£00of £000F Zooof £0oof 2ooof 4ooof
5 5 5 5 + 5 +++4 5 -t
a a +++ a E a a a
£500F £500F £500F £500F £500F £500F
1000f 1000F 1000F 1000fF 1000F 1000F
500F 500F 500F 500F 500F 500F
R O SN e W (el et T T R T LR O RO O S N, T TR VO TR R N R O O,
0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 0 1 2 3 4 5 6

7 8 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)




ATLAS SCT Module Test: Response vs. Channel - Tue Nov 06 11:25:52 2001 - LBL - Module 20220170100006

Page 3 Run 357 Start Scan 18 Module 0 Stream 1

V50 at 2.00fC | [ Nent=757

V50 (m

290

200

ichanmss

& o

55

110 120 130 140 150 160 170 180 19,
‘Chip 3 V150 a1 2.00iC.

0 100 200 300 400 500 600 7Q@ annel Number I T
Gain at 2.00fC | [Nent =757 . o= 125
%) T0 : i3
S {
E of
3 60 ¥
£

100 200 300 400 500 600 7QQannel Number

nichannet

100 110 120 130 140 150 160 170 180

ichanms:

110 120 130 140 150 160 170 180 190,200 110 120 130 140 150 160 170 180 190,

Nent = 125
Constant = 12.05 +- 1.3
Mean  =1485 +0.18;
Sigma__=2.068 + 0.1

Nent = 126
Constant = 16.9 +- 1.84
Mean  =153.1 +0.13;
Sigma__= 1.488 +0.0:

Nent= 125

Constant = 27.17
Mean = 48.02 +

Sigma

9176 +-

Chip 3 Gain at 2.00C

70 80 cS0nvik90
Nent = 126
Constant =30.23 +- 3.2
Mean = 49.69 +- 0.07

Sigma_ = 0.8315 +- 0.0

010 20 30 40 50 60 70 80 co0mif0

Extrapolated Offset | [ Nent=757

Extrapolated Offset (m’

200 300 7Q@annel Number

7080 c.90nuitd0
Nent =125
Constant = 33.31 +-3.
Mean 16 +0.13

Sigma_=1.497 0 0o.

70rapBes Al (PO

Nent = 126
Constant = 3237 +-3.
Mean  =53.75 +- 0.1

0 10 20 30 40 50

Input Noise at 2.00fC | [ Nent =757

Nip 0 Input Noise at 2.001C.
—

Input Noise (ENC]

3000

2500

2000

1500

1000

500

0 100 200 300 400 500 600 7QQannel Number

nichanne
2

o 5 ono8 R

70urapBes A (PO

Nent =125

Constant = 38.35 +- 4.2
Mean = 1745 + 3,87
Sigma_=43.35 +-2.74:

"Chip 3 Input Noise at 2.001C

500 1000

35}

nichanneg

o B 5 8 R

1500 2008 noise (£RE00

Nent = 126

nichanneiy

Constant = 41.21 +- 4.4
362
256

500 1000 1500 200 wose R6P0

1500 200 noiso (£RE00




ATLAS SCT Module Test: Response Curve - Tue Nov 06 11:25:52 2001 - LBL - Module 20220170100006
Page 4 Run 357 Start Scan 18 Module 0 Stream 1

[chip 0 Response Curve ]

[chip 1 Response Curve |

[chip 2 Response Curve |

[Chip 3 Response Curve | [chip 4 Response Curve | [Chip 5 Response Curve |

800 600F £600F 00F £600F £600F
500 *500F *500F *500F > >500F
400) 400 400) 400 400
300 300 300 300 300
200 200 200 200 200
100 100 100 100 100
B TR AT bttt el nevoflacafnne bttt el lncvofloreefinned B T TT T T T
0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)
[ Chip 0 Gain | e Chip 1 Gain | [ven=0 | Chip 2 Gain | [veni=0 | Chip 3 Gain | [veri-o ]I Chip 4 Gain | [nen=0 |l Chip 5 Gain | Neni=0 |
Ay oI00 Y oI00 DL0! G100
2 90k 2 90F 2 90F 2 90F 2 90F 2 90k
= 80F < 80F < 80F <= 80F < 80F £ 80F
© 70F 70 ° 70k ° 70f ° 70F ° 70
60F ... 60 60F 60F 60F 60
50F S50 === 50 wamwm 50F mamwm 50 m=ew S50 m=mm
40k 40 40F 40F 40F 40
30F 30 30 30F 30F 30
20f 20F 20F 20F 20 20F
10F 10F 10F 10f 10F 10F
0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)
[ Chip 0 Output Noise] [ven=0 J|[_Chip 1 Output Noise] [ven=0 JI[ Chip 2 Output Noise ] [ven=0 J[_Chip 3 Output Noise ] [veni=0J[_Chip 4 Output Noise] [ven=0 J|[_Chip 5 Output Noise | Nent=0 |
ESESLY] SIS I ESNESLY) =3 SIS
E £ € £ E E
: : Z : Z :
g 25F g 25k g 25F g 25F g 25F £ 25F
Z Z = z = z
2 20F £ 20f g 20F £ 20F £ 20k £ 20F
o) o o] o o L o o
15 e 15 pee 15 pne 15F  ens 15F 15F  ene
10F 10F 10F 10F 10F 10F
5f s5f 5F 5 5F s5f
T T T R Ry R bt R bt
0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)
[ Chip 0Input Noise | Nent =0 ||_®Chip 1 Input Noise | Nent=0 ||_?:(I:hip 2 Input Noise | weni-o_J|_Chip 3 Input Noise | Nent=0 ||_23Chip 4 Input Noise | Nent =0 ||_?§3hip 5 Input Noise | Neni=0 |
o000 OU| v} 2500 v OU]
@ [ i) [ ) s [
£00of £000F Zooof £0oof 2ooof 4ooof
z — 2 s H hhad F T 3 H et
fsooF  * £500F £500F £500F £500F £500F
1000F 1000F 1000F 1000F 1000F 1000F
500F 500F 500F 500F 500F 500F
bl el SR R R O e el nevoflacafnne il il il el lncvofloreefinned (e fineefinrefirerlinefle
0 1 2 3 4 5 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 45 6 7 8 0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6

7 8
Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC) Charge(fC)




